
  

H–131 

(Assignment Work)

(Group–I)
 fuxeh; ys[kkadu 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1-- va’k D;k gS \ 
What is Share ? 

2- iw.kZ iznŸk va’k fdls dgrs gSa \ 
What is called full paid up shares ? 

3- ykHkka’k D;k gS \ 
What is Dividend ? 

4- vUrfje ykHkka’k D;k gS \ 
What is Interim Dividend ? 

5- vf/kykHk fdls dgrs gSa \ 



  

What is Super Profit ? 

6- lwfp;r va’k fdls dgrs gSa \ 
What is Listed Shares ? 

7- ,dhdj.k D;k gS \ 
What is Amalgamation ? 

8- lw=/kkjh dEiuh ls vki D;k le>rs gSa \ 
What do you mean by Holding Company ? 

[k.M&c 
(Section—B) 

9- U;wure vfHknku ls D;k vfHkizk; gS \ 
What is meant by Minimum Subscription ? 

10- iwokZf/kdkj va’k D;k gS \ 
What is Preference Share ? 

11- pkyw lEifŸk fdls dgrs gSa \ 
What is Current Asset ? 

12- foHkktu ;ksX; ykHk ls vki D;k le>rs gSa \ 
What do you mean by Divisible Profit ? 

13- [;kfr dh ifjHkk”kk nhft,A 
Define Goodwill. 

14- dEiuh dk vkUrfjd iqufuZekZ.k D;k gS \ 
What is Internal Reconstruction of a Company ? 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- iwokZf/kdkj va’kksa ds ‘kks/ku ij laf{kIr fVIi.kh fyf[k;sA 
Write short note on Redemption of Preference Shares. 

16- fofHkUu izdkj ds _.ki=ksa dks le>kb,A 
Explain different kinds of Debentures. 

17- ,d O;kikj dh [;kfr dks izHkkfor djus okys izeq[k ?kVdksa dks le>kb,A 



  

Explain the major factors affecting the goodwill of a business. 

18- dEiuh ds ,dhdj.k rFkk iqufuZekZ.k esa vUrj crkb,A 
Distinguish between amalgamation and reconstruction of a company. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- va’k ds fofHkUu izdkjksa dh Li”V :i ls foospuk dhft,A 
Discuss clearly the various kinds of shares. 

20- _.ki=ksa ds ‘kks/ku dh izeq[k fof/k;k¡ dkSu&lh gSa \ O;k[;k dhft,A 

What are the various methods of redeeming the debentures ? Explain. 

21- vf/kykHk ij vk/kkfjr [;kfr ds ewY;kadu dh fofHkUu i)fr;k¡ dkSu&dkSu lh gSa \ 

What are the different methods of valuation of Goodwill based on super profit ? 

22- vkUrfjd iqufuZekZ.k ds le; dEiuh dh iqLrdksa esa ys[kkadu ds D;k ys[ks fd;s tkrs gSa \ 
What accounting record is made in the books of companies at the time of Internal 
Reconstruction ? 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- va’kksa ds ewY;kadu dh fofHkUu fof/k;ksa dk mnkgj.k lfgr o.kZu dhft,A 
Explain with examples the different methods of evaluation of shares. 

24- H vkSj S fyfeVsM dk 31 ekpZ 2021 dks fuEukafdr fpV~Bk Fkk % 

 H Ltd. S Ltd. 

va’k iw¡th ¼` 100 izfr va’k½ 2,00,000 50,000 

lkekU; lap; 30,000 10,000 

ykHk&gkfu [kkrk ¼01&04&2020 
dks ckdh½ 

40,000 20,000 

2020&2021 ds ykHk 50,000 25,000 

ysunkj 50,000 30,000 



  

ns; fcy 15,000 — 

 3,85,000 1,35,000 

 

 H Ltd. S Ltd. 

Hkwfe vkSj Hkou 60,000 — 

Iyk.V ,oa e’khu 2,00,000 — 

jgfr;k 40,000 85,000 

dqy nsunkj 10,000 30,000 

jksdM+ vkSj cSad ckdh 10,000 10,000 

S fy- esa 300 va’k ykxr ij 65,000 — 

izkI; fcy — 10,000 

 3,85,000 1,35,000 

1 vDVwcj] 2020 dks H fyfeVsM us va’k izkIr fd;sA S fyfeVsM ds ikl tks izkI; fcy gSa os lc H 
fyfeVsM }kjk Lohdkj fd;s x;s gSaA S fyfeVsM ds nsunkjksa esa ` 6]000 H fyfeVsM }kjk ns; ‘kkfey gS 
D;ksafd bUgsa eky Hkstk x;k FkkA fefJr fpV~Bk cukb,] ;g ekurs gq, fd S fyfeVsM dk lEiw.kZ lap; 
S fyfeVsM ds va’k Ø; djus ds iwoZ dk gSA 
The Balance Sheet of H Ltd. and S Ltd. on 31st March, 2021 were as under : 

 H Ltd. S Ltd. 

Share Capital (shares of  
` 100 each) 

2,00,000 50,000 

General Reserve 30,000 10,000 

Profit and Loss A/c 
(Balance on 01-04-2020) 

40,000 20,000 

Profit for 2020-2021 50,000 25,000 

Creditors 50,000 30,000 

Bills Payable 15,000 — 

 3,85,000 1,35,000 

 

 H Ltd. S Ltd. 

Land and Building 60,000 — 



  

Plant and Machine 2,00,000 — 

Stock 40,000 85,000 

Sundry Debtors 10,000 30,000 

Cash and Bank Balance 10,000 10,000 

300 Shares in S Ltd at cost 65,000 — 

Bills Receivable — 10,000 

 3,85,000 1,35,000 

Shares were acquired by H Ltd. on 1st October, 2020. Bills receivable held by S Ltd. are 
accepted by H. Ltd. included in the Debtors of S Ltd. is ` 6,000 owing by H Ltd. in respect 
of goods supplied. Prepare consolidated Balance Sheet assuming that the reserve of S Ltd. is 
for the preacquisition period. 

  
 

 
 

 

 

 

 

 
 

 



  

H–132 

(Assignment Work)

(Group–I)
  ykxr ys[kkadu 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- ifjorZu’khy ykxr izfr bdkbZ ---------------------------- gksrh gSA 
Variable cost per unit is .................. . 

2- ykxr vads{k.k dkSu djrk gS \ 
Who does the Cost Audit ? 

3- fuf’pr ?k.Vksa ls vf/kd le; ------------------------ dgykrk gSA 
Time which is more than a certain hour is called ................... . 

4- fLFkj mifjO;; D;k gS \ 
What is Fixed Overhead ? 

5- otu esa gkfu ------------------------------ [kkrs ls yxkbZ tkrh gSA 



  

Weight loss is charged to the ................ Account. 

6- izR;{k lkexzh] izR;{k Je ,oa izR;{k O;; dk ;ksx ---------------------------- dgykrk gSA 
The sum of direct material, direct labour and direct expenses is called .................. . 

7- foŸkh; ys[kksa esa jgfr;k dk ewY;kadu fdl ewY; ij gksrk gS \ 
At what value, are stock valued in Financial  Accounts ? 

8- fcØh ewY; ,oa ifjorZuh; ykxr dk vUrj --------------------------------- dgykrk gSA 
The difference between selling price and variable cost is called ................... . 

[k.M&c 
(Section—B) 

9- lhekUr ykxr ls vki D;k le>rs gSa \ 
What do you understand by Marginal Cost ? 

10- dk;Zghu le; D;k gS \ 
What is Idle Time ? 

11- izR;{k ykxr D;k gS \ 
What is Direct Cost ? 

12- ifjpkyu ykxr ls vki D;k le>rs gSa \ 
What do you mean by operating cost ? 

13- ykxr ys[kksa ,oa foŸkh; ys[kksa ds lek/kku dh vko’;drk D;ksa iM+rh gS \ 
Why is reconciliation of cost accounts and financial accounts required ? 

14- le&foPNsn fcUnq D;k gS \ 

What is Break-Even Point ? 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- foŸkh; vads{k.k rFkk ykxr vads{k.k esa vUrj crkb,A 
Distinguish between Financial Audit and Cost Audit. 

16- gkYls izhfe;e ;kstuk D;k gS \ 
What is Halsey Premium Plan ? 

17- pkyw dk;Z D;k gS \ Bsdk [kkrs esa pkyw dk;Z dh x.kuk dSls dh tkrh gS \ 



  

What is work-in-progress ? How is work-in-progress calculated in contract account ? 

18- ykxr [kkrkcgh fdls dgrs gSa \ blesa [kksys tkus okys [kkrksa dks Li”V dhft,A 
What is Cost Ledger ? Explain the accounts to be opened in cost ledger. 

 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- lkexzh fu;a=.k ds D;k mís’; gSa \ lkexzh fuxZeu dh dher fu/kkZj.k gsrq fofHkUu fof/k;ksa dk laf{kIr 

o.kZu dhft,A 

What are the objectives of Material Control ? State briefly the various methods for pricing 

the issue of material. 

20- mifjO;; dh ifjHkk”kk nhft, ,oa mifjO;;ksa dk oxhZdj.k le>kb,A 

Define overhead. Explain the classification of overheads. 

21- ,d fuekZ.kdrkZ ds 31 ekpZ 2021 dks lekIr gksus okys o”kZ ds fuEufyf[kr fooj.kksa ls ykxr i= 

cukb, % 

 01-04-2020 

(`) 

31-03-2021 

(`) 

v/kZfufeZr eky 50,000 40,000 

lkexzh 30,000 24,000 

Je 20,000 16,000 

fuekZ.kh O;; 1,00,000 80,000 

dPps eky dk jgfr;k 3,37,500 3,03,000 

dPps eky dk Ø; — 7,15,500 

izfØ;k etnwjh Hkqxrku — 2,34,000 



  

fuekZ.k O;; — 2,46,000 

iz’kklfud mifjO;; — 2,50,000 

Prepare a cost sheet of a manufacturer from the following details for the year ended 31st 

March, 2021 : 

 01-04-2020 

(`) 

31-03-2021 

(`) 

Work-in-Progress 50,000 40,000 

Material 30,000 24,000 

Labour 20,000 16,000 

Manufacturing Exp. 1,00,000 80,000 

Stock of Raw Material 3,37,500 3,03,000 

Raw Material Purchased — 7,15,500 

Process Wages Paid — 2,34,000 

Manufacturing Exp. — 2,46,000 

Administrative Overhead — 2,50,000 

22- fuEufyf[kr lwpukvksa ls lkek/kku fooj.k rS;kj dhft, % 

 ` 

foŸkh; ys[kksa ds vuqlkj ‘kq) gkfu 8,100 

ykxr ys[kksa ds vuqlkj ‘kq) gkfu 8,050 

cSad C;kt foŸkh; ys[kksa esa ØsfMV 1,200 

LVkslZ lek;kstu foŸkh; ys[kksa esa ØsfMV 1,550 

dkj[kkuk mifjO;; ykxr ys[kksa esa de olwy 300 

izkjafHkd O;; dsoy foŸkh; ys[kksa esa vifyf[kr 200 



  

kl foŸkh; ys[kksa esa yxk;k x;k dsoy 10,000 

kl ykxr ys[kksa esa yxk;k x;k  8,500 

nku fn;k x;k 800 

Prepare reconciliation statement from the following information : 

 ` 

Net loss as per Financial Accounts 8,100 

Net loss as per Cost Accounts 8,050 

Bank Interest credited in Financial 

        Account 1,200 

Store Adjustment credited in Financial  

        Account 1,550 

Work overhead under recovered in Cost  

         A/c 300 

Preliminary Exp. written off in Financial 

        A/c only 200 

Depreciation charged in Financial Books 10,000 

While recorded in Cost Accounts 8,500 

Donation Paid 800 

 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- ykxr ys[kkadu ls vki D;k le>rs gSa \ ykxr ys[kkadu ds mís’; ,oa ykHk crkb,A 
What is meant by Cost Accounting ? Give the objects and advantages of Cost Accounting. 

24- fuEufyf[kr lwpuk,¡ nh xbZ gSa % 

o”kZ foØ; ¼`½ ykHk ¼`½ 



  

2007 15,000 400 

2008 19,000 1,150 

Kkr dhft, % 

(i) ykHk&ek=k vuqikr 

(ii) ` 12]000 dh fcØh ij ykHk dh jkf’k 
(iii) ` 2]000 dk ykHk dekus gsrq vko’;d foØ; 
Following information are given : 

Year Sales (`) Profit (`) 

2007 15,000 400 

2008 19,000 1,150 

Calculate : 

(i) P/V Radio 

(ii) Profit when sales are ` 12,000 

(iii) Sales required to each a profit of ` 2,000 

 

 

 

 

 

 

 

 

 
 

 

 



  

H–133 

(Assignment Work)

(Group–II)
  O;kolkf;d izcU/k ds fl)kUr ,oa m|ferk

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- ßizcU/k O;fDr;ksa dk fodkl gS u fd oLrqvksa dk funsZ’kuAÞ ;g fdldk dFku gS \ 

Whose statement is this : “Management is the development of individuals and not the 

direction of things” ? 

2- lkbfUVfQd eSustesaV ds tUenkrk ds :i esa dkSu tkus tkrs gSa \ 
Who is known as the father of Scientific Management ? 

3- ßmís’;ksa }kjk izcU/k vfUre ifj.kke gSAÞ ;g fdlus dgk gS \ 
Who has said that “Management by objectives is the end result” ? 

4- cká okrkoj.k ds fdrus izdkj gksrs gSa \ 



  

How many types of external environment are there ? 

5- o`f) O;wgjpuk dk nwljk uke D;k gS \ 
What is another name for growth strategy ? 

6- vf/kdkj fdrus izdkj ds gksrs gSa \ 
How many types of rights are there ? 

7- laxBukRed lajpuk ds fdrus eq[; izdkj gSa \ 
How many main types of organizational structure are there ? 

8- ^,Dl* rFkk ^ckbZ* ds vfHkizsj.k fl)kUr dk izfriknu fdlus fd;k gS \ 
Who was propounded the motive theory of X and Y ? 

[k.M&c 
(Section—B) 

9- fu.kZ;u dk D;k egRo gS \ 
What is the significance of decision-making ? 

10- fu;kstu izfØ;k dks le>kb,A 

Describe the process of planning. 

11- vkn’kZ laxBu ds y{k.kksa dk o.kZu dhft,A 

Describe the characteristics of an ideal organisation. 

12- izR;k;kstu dh ck/kk,¡ crkb,A 

Discuss the barriers to delegation. 

13- vfHkizsj.kk dh eq[; rduhdksa dk o.kZu dhft,A 

Describe the main techniques of motivation. 

14- lapkj ds mís’;ksa dks le>kb,A 

Explain the objectives of communication. 

 

 

 



  

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- ßizca/k O;fDr;ksa dk fodkl gS u fd oLrqvksa dk funsZ’kuAÞ le>kb;sA 

Explain “The management is the development of men and not the direction of things”. 

16- izHkkoh lans’kokgu ds egRo dh foospuk dhft,A 

Discuss the importance of effective communication. 

17- lkekftd okrkoj.k O;oLFkk dks dSls izHkkfor djrk gS \ 

How does Social Environment affect System ? 

18- foHkkxhdj.k D;k gS \ 

What is Departmentation ? 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- lekesfyr fu;kstu ds ykHkksa ,oa nks”kksa dk o.kZu dhft,A 

Explain the advantages and disadvantages of corporate planning. 

20- lkoZtfud O;wgjpukvksa ds izdkjksa dks Li”V dhft,A 

Explain the types of generic strategies. 

21- izkf/kdkj ls D;k vk’k; gS \ izkf/kdkj ds izdkjksa o lzksrksa dks le>kb,A 

What is authority ? Describe the types and sources of authority. 

22- ifjorZu ds izcU/k ls D;k vk’k; gS \ ;g fdrus izdkj dk gksrk gS \ 

What is meant by management of change ? What are its types ? 



  

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 

(Section—E) 

23- usr`Ro D;k gksrk gS \ bldk egRo crkb,A 

What is leadership ? Discuss its significance. 

24- foHkkxhdj.k ls vki D;k le>rs gSa \ blds fofHkUu izk:iksa dh O;k[;k dhft,A 

What do you mean by departmentation ? Explain its different forms. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 



  

H–134 

(Assignment Work)

(Group–II)

  O;kolkf;d lkaf[;dh

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- ckmys us lkaf[;dh dh D;k ifjHkk”kk nh gS \ 
What is the definition of statistics by Bowley ? 

2- jsMhesM diM+k m|ksx ds fy;s dkSu&lk ek/; mi;qDr gksxk \ 
Which average is suitable for readymade garment industry ? 

3- dkSu&lk eki voyksduksa ds dsUnzh; 50% ij vk/kkfjr gksrk gS \ 
Which measure is based on central 50% of the observations ? 

4- iaped fdls dgrs gSa \ 
What is Quintiles ? 



  

5- fQ’kj dk vkn’kZ lw= fyf[k;sA 
Write the ideal formula of Fisher. 

6- nh?kZdkyhu izo`fŸk fdl fof/k ds }kjk Kkr dh tk ldrh gS \ 
By which method, Long-term trend can be calculated ? 

7- O;kolkf;d iwokZuqeku dh rhu rduhdsa crkb,A 
Write any three techniques of business forecasting. 

8- vkfJr ?kVuk,¡ D;k gSa \ 
What are the dependent events ? 

[k.M&c 
(Section—B) 

9- pj ls vki D;k le>rs gSa \ 
What do you understand by variable ? 

10- O;kogkfjd lkaf[;dh D;k gS \ 
What is practical statistics ? 

11- prqFkZd fopyu ls D;k vk’k; gS \ 
What is meant by Quartile Deviation ? 

12- lwpdkad dh lhek,¡ crkb;sA 
Discuss the limitations of Index Numbers. 

13- ;ksfxd jhfr D;k gS \ 
What is Aggregative Method ? 

14- cktkj vuqla/kku ls vki D;k le>rs gSa \ 
What do you understand by Market Research ? 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- dsUnzh; izòfŸk dh ekiksa dk D;k egRo gS \ 
What is the importance of Measures of Central Tendency ? 

16- lglEcU/k ds ifjek.k dks le>kb;sA 
Explain the degree of correlation. 



  

17- dky Jsf.k;ksa dk egRo fyf[k;sA 
Write the importance of time series. 

18- O;kolkf;d iwokZuqeku ,oa ctV esa vUrj dhft;sA 
Write the differences between Business Forecasting and Budget. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- ^dsUnzh; izo`fŸk* ls D;k vk’k; gS \ bls ekius dh fofHkUu fof/k;ksa dk o.kZu dhft,A 
What is meant by ‘Central Tendency’ ? Describe the various methods of measuring it. 

20- fuEufyf[kr vk¡dM+ksa ls izeki fopyu o fopj.k xq.kkad Kkr dhft;s % 

vad fo|kfFkZ;ksa dh la[;k 
0—10 6 

10—20 10 

20—30 20 

30—40 9 

40—50 5 

Compute standard deviation and coefficient of variation from the following data : 

Marks No. of Students 

0—10 6 

10—20 10 

20—30 20 
30—40 9 
40—50 5 

21- fuEufyf[kr Js.kh ls py ek/; jhfr ls miufr Kkr  
dhft, % 

o”kZ foØ; (`) 
1 100 

2 120 

3 125 

4 110 

5 130 



  

6 150 

Determine the trend for the following series by Moving Average : 

Year Sales (`) 
1 100 
2 120 
3 125 
4 110 
5 130 
6 150 

22- vkn’kZ O;kolkf;d iwokZuqeku ds pj.k ,oa xq.k crkb;sA 
Describe the stages and merits of an Ideal Business Forecasting. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- fuEufyf[kr leadksa ls dkyZ fi;lZu dk fo”kerk xq.kkad Kkr dhft, % 

vad fo|kfFkZ;ksa dh la[;k 
40—50 5 
50—60 6 
60—70 8 
70—80 10 
80—90 25 

90—100 30 
100—110 36 
110—120 50 
120—130 60 

130—140 70 

Calculate Karl Pearson’s coefficient of skewness from following data : 

Marks No. of Student 

40—50 5 

50—60 6 

60—70 8 

70—80 10 

80—90 25 

90—100 30 



  

100—110 36 

110—120 50 

120—130 60 

130—140 70 

24- ek/;ksa ds izdkj dkSu&dkSu ls gSa \ izR;sd dh fo’ks”krk,¡ ,oa mlds mi;ksx le>kb;sA 
What are the kinds of averages ? Explain the characteristics and uses of each. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 



  

H–135 

(Assignment Work)

(Group–III)

  eqnzk ,oa foŸkh; iz.kkfy;k¡

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- pyu eqnzk D;k gS \ 
What is currency ? 

2- vfrjsd fjtoZ D;k gS \ 
What is excess reserve ? 

3- yksd foÙk D;k gS \ 
What is public finance ? 

4- fjtoZ cSad dk jk”Vªh;dj.k dc gqvk \ 
When was nationalisation of Reserve Bank of India ? 

5- lk[k xq.kd D;k gS \ 



  

What is credit multiplier ? 

6- jkT; foÙk fuxe dh LFkkiuk dc gqbZ \ 
When was State Financial Corporation established ? 

7- Hkkjrh; lkekU; chek fuxe dh LFkkiuk dc gqbZ \ 
When was General Insurance Corporation of India established ? 

8- fcy nj D;k gS \ 
What is Bill Rate ? 

[k.M&c 
(Section—B) 

9- eqæk ds lkekftd nks”kksa dks le>kb,A 
Explain social evils of money. 

10- mPp ‘kfDr eqæk ls D;k rkRi;Z gS \ 
What is high powered money ? 

11- foÙkh; iz.kkyh dk egRo crkb,A 
Give the importance of financial system. 

12- Hkkjr dh cSaÇdx uhfr esa uohu lq/kkj fyf[k,A 
Write the recent reforms in Indian banking system. 

13- cSad lk[k fuekZ.k fdl izdkj djrs gSa \ 
How do banks create credit ? 

14- C;kt nj o C;kt lajpuk esa D;k vUrj gS \ 
Distinguish between Interest Rate and Interest Structure ? 

l=h; dk;Z&2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- foÙkh; cktkj ls D;k rkRi;Z gS \ 
What do you mean by financial market ? 

16- cSaÇdx O;olk; ds laxBu dk o.kZu dhft,A 
Mention the organisation of banking business. 

17- Hkkjrh; fjtoZ cSad ds dk;ks± dk la{ksi esa o.kZu dhft,A 



  

Explain in brief the functions of Reserve Bank of India. 

18- ekSfæd uhfr dh lhek,¡ crkb,A 
Explain the limitations of monetary policy. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- O;kikfjd cSad viuh iw¡th fdl izdkj izkIr djrs gSa \ foospuk dhft,A 
How do commercial banks get capital ? Discuss. 

20- foÙkh; iz.kkyh ds fofHkUu la?kVdksa ij ,d ys[k fyf[k,A 
Write an essay on the various components of financial system. 

21- Hkwfe fodkl cSad ij laf{kIr fVIi.kh fyf[k,A 
Write a short note on Land Development Bank. 

22- Hkkjrh; fjtoZ cSad ds izeq[k dk;ks± dk o.kZu dhft,A 
Describe the main functions of Reserve Bank of India. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- orZeku vFkZO;oLFkk esa eqæk ds egRo dh O;k[;k dhft,A 
Explain the importance of money in present economy. 

24- Hkkjr esa okf.kfT;d cSadksa dh orZeku izo`fÙk;ksa dk o.kZu dhft,A 
Explain the recent trends of Commercial Banks in India. 

 

  

        

 

 

 

 

 

 

 

 
 

 

 



  

H–136 

(Assignment Work)

(Group–III)

  izeaMy ¼dEiuh½ fof/k

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- izkbosV dEiuh ds vf/kdre lnL;ksa dh la[;k fyf[k,A 
Write maximum number of members in a private company. 

2- ifCyd dEiuh ds U;wure lnL;ksa dh la[;k crkb,A 
Write minimum number of members in a public company. 

3- vfHknku okD; esa D;k fy[kk tkrk gS \ 
What is written in subscription clause ? 

4- laf{kIr izfooj.k D;k gS \ 

What is abridged prospectus ? 



  

5- ^ek¡x* ‘kCn dks le>kb,A 

Explain the term ‘call’. 

6- va’k D;k gS \ 

What is share ? 

7- lekiu D;k gS \ 

What is winding up ? 

8- dksje D;k gS \ 

What is quorum ? 

[k.M&c 

(Section—B) 

9- dEiuh ls D;k vk’k; gS \ 

What do you mean by company ? 

10- izorZu D;k gS \ 

What is promotion ? 

11- ik”kZn lhekfu;e dh fo”k;&lkexzh crkb,A 

Discuss the contents of Memorandum of Association. 

12- dEiuh ds ‘ks;j fdl izdkj tCr fd;s tkrs gSa \ 

How can the shares of a company be forfeited ? 

13- dEiuh ds lnL; ls D;k vk’k; gS \ 

What do you mean by member of a company ? 

14- ljdkjh lekid dkSu gksrk gS \ 

Who is an official liquidator ? 

 

 



  

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- futh dEiuh o lkoZtfud dEiuh esa dksbZ ik¡p vUrj crkb,A 

Give any five differences between a private company and a public company. 

16- vf/kdkjkrhr ds fl)kUr dk lfoLrkj o.kZu dhft,A 

Describe in detail the doctrine of ultra vires. 

17- ßlapkydksa dks gVkukÞ ij laf{kIr fVIi.kh fyf[k,A 

Write a short note on “Removal of Directors”. 

18- U;k;kf/kdj.k dh D;k ‘kfDr;k¡ gSa \ 

What are the powers of tribunal ? 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- fdl izdkj ,d futh dEiuh] lkoZtfud dEiuh ls Js”B gS \ 

How is a private company superior to a public company ? 

20- va’k iw¡th dks ?kVkus ds lEcU/k esa lkafof/kd izko/kkuksa dks crkb,A 

State the statutory provisions regarding reduction of share capital. 

21- ik”kZn lhekfu;e dk vk’k; o ifjHkk”kk fyf[k, ,oa blds okD;ksa dks crkb,A 

Write the meaning and definition of Memorandum of Association and discuss its clauses. 

22- dEiuh vf/kfu;e ds vUrxZr dEiuh ds mRihM+u vkSj dqizcU/k dks jksdus ds fy, NCLT dh D;k 

‘kfDr;k¡ gSa \ 



  

What are the powers of the NCLT to prevent oppression and mismanagement of a company 

under the Companies Act ? 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 

(Section—E) 

23- izorZd ls vki D;k le>rs gSa \ izorZd dkSu gksrk gS \ mldh ;ksX;rk,¡ crkb,A 

What do you understand by promoter ? Who is promoter ? Write its qualifications. 

24- va’k/kkjh ,oa lnL; esa vUrj crkb,A O;fDr fdu ifjfLFkfr;ksa esa fdlh dEiuh dk lnL; ugha jgrk 

gS \ lnL;rk dh fof/k;k¡ fyf[k,A 

Discuss difference between a shareholder and a member. When does a person cease to be a 
member of a company ? Write the method of becoming a member. 

 

 

 

 
 

 

 


